= 1

THIS COPY IS PROVIDED ON A RESTRICTED BASIS AND IS NOT TO BE USED IN ANY WAY DETRIMENTAL TO THE INTERESTS OF PANDUIT CORP.

.53 DIA PANDUIT
°x 4,50 a4 3.5] PART NUMBER WETGHT
| | °
[114.3] FRIZ2ACB12 4,29 LB/EACH
3X .41 DIA NOTES : FR1ZACB12M (1947g/EACH)
1.97 e
S [10.5]
[50.0] |, SEE CURRENT CATALOG FOR ADDITIONAL PART SUFF IXES
1.66 — TO INDICATE PACKAGE QUANTITY.
2. THE FIBERRUNNER 12x4 QUIKLOCK ADJUSTABLE "C™
‘ L/ [42.2] BRACKET 1S USED TO SUPPORT THE F IBERRUNNER 12x4
| y CABLE ROUTING SYSTEM FROM A SECTION OF NEW /2"
4E¥ o o o e@;;tﬁC{:D C::::::%QW (M12) THREADED ROD (NOT INCLUDED) OR CAN BE

DIRECTLY MOUNTED TO THE CEILING.,

3. THE FIBERRUNNER [2x4 QUIKLOCK ADJUSTABLE T"CT™
BRACKET INCLUDES:
ONE (1) BRACKET ASSEMBLY,

TWO (2) 1/2-13 HEAVY HEX NUTS (FRIZACBI2 ONLY),
17 74 TWO (2) M12x1.75 HEX NUTS (FRIZACBLI2M ONLY),
TWO (2) /2 HELICAL SPRING LOCKWASHERS,
[450.7] ONE (1) 1/4-20 T-BOLT,
ONE (1) 1/4-20 HEX KEPS LOCK NUT
11.60 4., FINISH COLOR: BLACK (EXCEPT HARDWARE)
5. DIMENSIONS IN PARENTHESES ARE IN METRIC.
(294 .7]
o J Qf STAMPING
i 4 o OPT I ONAL
6.00
8.72 [152.4]
[221.5] ADJUSTABLITY

TITLE

FIBERRUNNER 12x4 QUIKLOCK ADJUSTABLE "C”

BRACKET - 1/2” (M12) THREADED ROD

JL

ITEM REVISION NAME

D37797ER/01

DATASET FILE NAME

CUSTOMER DRAWING
I
ANDUIT
| &

D37797ER_DC/01B |

MATERTAL ¢

UNLESS OTHERWISE SPECIFIED, DIMENSIONAL TOLERANCES ARE:

D10100DA/20

N/A
MEX- F. "STAMPING OPTIONAL" LABEL ADDED RD AnGLE [P N
08 | 9729 | jage | FW! | FWI |SkE PREVIOUS REVISION FOR HISTORY V09002CN/00 B PROJECT 10N 37797-100
DRAWN BY |DATE CHK SCALE SI1ZE
REV| DATE | BY | CHK | APR DESCRIPT ION ECN T o NONE SHT 1 OF 1 A

2 1




